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Vi2=avV2, V300=bV3 L W, a—b 2] 727
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V72 = V22 x32x2 =62
V300 = V102 x3 =10V3
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Vi2 + V3 - V48
D)-V3 @ V3 ® 243
@ -2+3 ® 7V3

VI2+ V3- VI8 =2V3+ V3-443
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2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
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La=-1,b=3
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(=X)=a+1-(a-2)+a-3=a
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U= 3(x - 1)(x —4) oA A5 12 & 2A HYL,
AAol=3(x—1)(x+5) oA x & A4 12 & FA HYTh
whehA] 3x2 + 12x + 12 = 3(x + 2)2 o[t}
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® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)
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x+y=A 2 2gstH

(£4) =AA+6)+9
=A2+6A+9=(A+3)?
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X taxy-x-y=x(x+y)-(x+y)
(x4 y)(x-1)
ax+ay+bx+by=a(x+y)+b(x+y)
= (x+y)(a+b)
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(V2+ V3)? = (V2 - V3)?

(V2+ V3)(V2+ V3) = (V2 - V3)(V2 - V3)
2+ V6+ V6+3)-(2- V6- V6 +3)
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13. the AZZES olgate] V200 9 ZHe A

T 0 1 2 3 4

3.0 | 1.732 | 1,735 | 1.738 | 1,741 | 1,744
4.0 12.000]2.002|2.005|2.007| 2.010
5.0 12,230|2,238 | 2,241 | 2,243 | 2,245

D 44.72 @ 34.64 ® 34.70 @ 34.76 @44.76
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V2004 = V4 x501= 2 V501
= 2 x V5.01 x 100
=20v5.01

Folx A 5.01 = 2.238

520 X 2.238 = 44.76
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4x? —4x —a 7t F EAAO] o2 QIR HA, o] F 7t
2x+3 4w, a o F2?

O -15 @ -6 ® 3 @ 6 ®)15
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4x% —4x—a = (2x+ 3) (bx + ¢)

= 2bx? 4+ (3b + 2¢)x + 3¢
2b=4, b=2
2c+3b=-4, c=-5
—a=3c=-15, a=15
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O (x+y+2)(x-y+2) @ (x+y+2)(x-y-2)
® (x-y+z)(x-y-2) @ (x+y-z)(x—-y+2z)

@ +y-2)(x-y-2)

-2z +2 -y =(x-z7)>%-)2
=(x-z+y) (x-z-y)




